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G ASEFIAR - SRR

TR A - FARJIT O 20 DO KAE (Rl T)

ARG E £ T RRAE
[1] #PCB 680 5.0 14
[1-1]F/ 7 oo b7 ==/ 16 0.2 0.6
[12] Y/ vnbe 7 =Lk 45 0.8 2.4
[1-3] RV 7o b7 x= /L 130 0.9 2.7
[1-4] 7 FF /7o 7 ==L 200 0.8 2.1
[1-4-11 277 F—PCBD > H 33 44-T hT77nuv ==L (#77) 5.6 0.1 0.3
[1-4-2] 2755 —PCBD ) H 344'5-7 hF7upb 7=/ (#81) nd 0.09 0.24
[1-5] v &7 oo b7 == /LH 150 0.8 2.2
[1-5-11 =757 —PCBD 9 5 233 44 - X /7ot 7 ==/ (#105) 11 0.1 0.3
[1-52] 275 F—PCBD 5 H 23445~ 4 r7uub 7 ==, ({#114) 0.60 0.09 0.22
[1-5-3] =757 —PCBD 9 5 23 445~ Z7nub 7=/ (#118) 29 0.3 0.8
[1-5-4] 275 F—PCBD 9 H 23445~ F 7o 7 =)L (#123) 0.6 0.1 0.2
[1-5-5] 277 F—PCBD 95+ 33445 X/7uopb 7 ==/ (£126) 0.5 0.1 0.3
[1-6] ~¥HY 7o 7 ==/ 99 0.8 2.2
[1-6-11 275 F—PCBD 5 5 233 44 5-~FV 7ot 7=/, (#156) 3.5 0.09 0.24
[1-62] 277 F—PCBD 5 H 233 44,5-~FHs7nur == (#157) 0.80 0.09 0.24
[1-6-3] 275 F—PCBD 5 5 2,3 44 55-~FH /oo b7 ==/ (#167) 1.4 0.08 0.21
[1-6-4] 277 F—PCBD 5 H 3344.,55-~FH7nur == (#169) nd 0.1 0.4
[1-7] ~F %7 o7 ==/ 24 0.3 0.9
[1-7-11 277 F—PCBD 5 5 2233445 ~7H /oo 7=l (#170) 3.5 0.2 0.5
[1-7-2] 275 F—PCBD 9 5 22 344,55 ~FF7uub 7 ==, (#180) 6.6 0.2 0.5
[1-7-3] 275> —PCBD 9 5 233 44 55-~7 X /a7 ==/ (#189) nd 0.08 0.22
[1-8] A/ % 7o 7 == /L 5.4 0.1 0.3
[1-9] /F 27 oo b7 ==L 3.4 0.1 0.4
[1-10] FAHZ a7 ==L 12 0.2 0.4
[2]HCB (~¥H 7o~ PL) 150 1 3
(717 2 V7 65 6.3 20
[7-1]cis -2 v )LVF 17 1.6 4.8
[7-2trans -7 v VT 18 1 4
[7-3]AF 7 oL nd 1 3
[7-4)cis-/ F 7 T 13 0.7 1.7
[7-5]trans -/ )7 v )v 17 2 6
[8]~7% 7 v HH tr(2.3) 1.6 4.1
[8-1]~7" & 77 a )L 1.0 0.3 0.9
[8-2]cis -~F % 7 B /LTREY R 1.3 0.5 1.2
[8-3]trans -~7"% 7 a )L TiRF L K nd 0.8 2.0
[11] HCH}H 63 1.4 3.6
[11-1] a-HCH 18 0.2 0.5
[11-2] -HCH 33 0.6 1.5
[11-3] y-HCH (B4 : V> T V) 3.0 0.4 1.0
[11-4] 5-HCH 9.3 0.2 0.6
[14)RY) 7o 7 2=z —7 )V (BEEI 4N H10ETDOHD) 26,000 33 89
[14-11 T F 7 0EY7 2=/ —F LM tr(7) 4 9
[14-1-1]22'44-T F 77 0E V7 = =)L =—T )L (#47) tr(7) 4 9
[14-2] X AT aEy 7 = =)L T—7 LI tr(4) 4 9
[14-2-112,2'44' 5-X 27 BEY 7 = =/L=—F /L (#99) tr(4) 2 6
[14-3] ~F VT uET 7 = =)L =—7F LI 21 2 6
[14-3-1]122'44' 55 -~F P T uE 7 == )L=—5 )L (#153) tr(3) 2 6
[14-3-2]2,2' 44 5,6-~FH T 0 ET T = =/L—F /L (#154) tr(3) 2 5
[14-4] ~T X T uFT 7 2= )L=—F )LIH 19 6 15
[14-4-1]12,2'3,3'4,5,6-~FT R 7 0EY 7 = =)L —F )L (#175) MK N[14-4-2] tr(8) 6 15
22'344'56-~THZTaEST =)L —F /L (#183)
[14-51 A2 Z T aEV7 = =)L =—F )L 140 2 5
[14-6] /7 a7 =)L —7F LA 2,500 5 15
[14-7]| FH 7 BEY T 2= )L—F )L 23,000 10 30
[17] v & 7o E 170 0.5 1.2
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[20] faAR Vb7 2 L 390 9.1 27
[20-1] £/l 7 X L E 24 6 18
[20-2] UHifbF 7 X LS 38 0.4 1.1
[20-3] KV ST 7 X LA 48 0.5 1.3
[20-4] 7 b ZHifb T 7 % L A 130 0.5 1.5
[20-5] = v 7 2 L A 79 0.5 1.5
[20-6] ~F YT 7 % L A 50 0.6 1.6
[20-7] ~7 2T 7 # L A 20 0.3 0.7
[20-8] A2 #¥ifk)F 7 x1L v 2.6 0.3 0.8
[22] v 7uv Tz /)= ONCZE O RO AT )LEH 240 4 9
[22-1] X ZrouaT =) —)b 220 2 4
[22-2] X Frmuy =Y —) 17 2 5
[23)E8REEIb T 7 4 nd 17,000 43,000
[23-1) T B 5 nd 4,000 10,000
[23-2EH#b Vv T H A nd 4,000 10,000
[23-3EFL KT A nd 4,000 11,000
[23-41EFL bV T H A nd 5,000 12,000

(FED) B FIRELL B2 gt & L7z,

1£2) SE RG] FIRMEIZFEIRR Z & OE R[] FIRIEOGFHEE L7,

(
(7E3)  Tnd) FAREEZERT D,
(

H4)  Ttr) (I TIRULEER FIRATZ B%T 2,




